2HAXV1=T/A—R/RRE—XBEFERR2023(Y—7) S ERE]
SERMLT—T I REIERA]
ML LT—T N IEREPETICE S TERICEDIBENTEVET DT, HohLH T TEZEL,

20234 7R3H I|E

1HE 2023498 2H8(1) (BmH5:16.-B M A18:10)
LS EE4A i Va1 P X% | Bk E=E A7) RS
6:30| XL ZERB/ETEER
7.00|BH 8 - RV TIRHE
H—TA $—7B
8:30[R—FL—=X (U18%F) FiE 8:30| = v/ S—R—FL—2X (U12%&F) i Fi#
8:45| =/ S—R—FL—2X (U128F) i 73
9:20| =w/S—R—FL—2X (U10%ZF) i T3
9:30[R—FL—=X (U188 F) FiE
9:35|=w/S—R—FL—2X (U108 ¥) i F3E
10:10| =y /8 —R—FL—X (Us%k¥) Pk
10:25| = /8 —R—FL—2X (UBS¥F) P
10:30[R—FL—2X (MO LA EBF) i F:&
10:45[;R—FL—2X (M30-39m B F) iF:&
10:50| 5 RA LTV (U128F) i F:E
11:10[ 4 —2JL—X (U18%ZF) FiE
11:20| 5V RA LTV (U10BF) i F:E
11:30( 4 —2JL—2X (U185 F) FiE
11:40| (B{RER)
12:00{4—2IL—2X (U15%F) &
12:20( (BR{KER)
12:30| =/ S —HR—KYL— (U12%F) (kB
12:45| =8 —HR—KYL— (U125 F) {iRBE
13:00| R—FL—X (U18%F) R | 13:00| = v/ 8—R—FL— (U10%F) (kB
13:15|R—FL—X (U185 F) R | 13:15|=v/A—R—FL— (U105 F) {iRB
13:40|R—FL—X (MAORE LA EZF) iiREE | 1340|5V RA LY (U12%F) (kB
13:50| R—FL—X (MAORELLEBF) iiREE | 13:50| 5V RA LTV (U125 7) {iRB
14:00| R—FL—X (M30-39m X F) iiREE | 1400|750 RA LY (U10%F) (kB
14:10|R—FL—X (M30-39m BF) iR | 1410|5VRA LY (U105 F) {iRB
14:20| R—FL—X (M23-29m & F) iRBE | 1420 9—FT 2L —R (UK F) kB
14:25| 0 —FT42 9 L—R (UBBF) iiREs
14:30| R—FL—X (M23-29% BBF) RS
14:40| =/ S —HR—KL—& (U12%F) (kB
14:50| R—FL—X (MEX+—%F) ikl | 1450|=y/i—FKR—FL—X (U125 7) {iRBE
15:00| R—KL—X (MEX+—BF) iRl | 1500|=v/8s—R—FL—X (U10%F) {iRB§
15:10|R—KL—X (U18%F) R | 15:10|=v/S—R—FL—2R (U105 F) {iRBs
15:20| R—KL—X (U188 F) R | 15:20|=w/S—R—FL—2R (UBZF) :iRB§
15:30| =/ S—R—KL—& (UBBF) kB
15:40|/R—KL RF 21— (M59RELAT) FiE
15:50| 2y T 1)L— (U12%F) {iRBE
16:00|/R—KLRF 21— (M60RE LA LE) FiE
16:05|2y T L— (U125 F) {iRB
16:20[/R—KL RF2— (U18%F) F2 | 16:20(2vFUyL— (U10%F) i iRBE
16:35| 2y T L— (U105 F) {iRBs
16:40|/R—RL RF 21— (U188 F) FiE
17:15| & ERXD
18:00|FEEA T




2HAXV1=T/A—R/RRE—XBEFERR2023(Y—7) S ERE]
SERMLT—T I REIERA]
ML LT—T N IEREPETICE S TERICEDIBENTEVET DT, HohLH T TEZEL,

20234 7R3H I|E

2HH 20239 H3H(A) (BDH5:17.7HD A18:09)
e EE4A i Va1 P X% | Bk E=E A7) RS
6:30| XL ZERB/ETEER
7.00|BH 8 - RV TIRHE
H—JA J—78
8:30|—IRXAF—L—R (MO LA EBF) i F:& 8:30|[LAFa—Fa1—TLR¥a1— {(UIBKF) i T
8:45[H—JRF—L—2R (M30-39m B F) iF:&
9:00[LRAFa—Fa1—TLR¥a1— {(UIBBF) i T
9:10[1—RF—Lvrh—72 i (UI8ZF) T
9:40( 1 —RF—vT (U188 F) FiE 9:40| =w/S—R—FL—2X (U15%ZF) i T
10:00| =/ S —R—KFL—X (U158 F) i F3E
10:20[ 4 —JL—2R (M40 L E & F) HiR B
10:30| 4 —JL—2R (M40 L EBF) (iR | 10:30| - —TL—X (U18%F) kB
10404 —JL—2R (M30-39m X F) iiREE | 1040|H—TL—X (U185 F) {iRBE
10:50| 4 —JL—2R (M30-39m BF) iiREF | 1050|4—TL—X (U15%F) kB
11:00[ 4 —JL—2R (M23-29m X F) iR | 11:00|4—JL—X (U155 F) {iRBE
11:10[4—IL—2R (M23-29m B F) iiRE
11:20[ 4 —JL—2R (ME¥F+—%F) ikl | 11:20|R—FLRFa21— (U18%F) kB
11:30| 4 —JL—2R (MEXF+—B5BF) Rkl | 11:30|R—FLRFa21— (U185 F) {iRBE
11:40( (B{KER) 11:40[ R—FL R ¥ 21— (U15%F) kB
11:50[ R—FL R ¥ 21— (U155 F) {iRBE
12:00| (B {RE8)
12:30| 4y —T7RF—L—2X (U18%F) R
12:45(—JXF—L—2X (U185 F) R
12:50| =/ S —HR—KL—& (U15%F) (kB
13:00|= /S —HR—KL—& (U155 F) {iRBE
13:10[/R—KL R F2— (M60RE LA LE) R
13:20[ R—KL RF2— (M59RELATR) R | 1320|LRF2—Fa2—TLRAFa— i(UISKF) ikl
13:35|LRAFa—Fa—TLR¥a— | (UIBBF) ik
13:40( 4 —IJRF—L—X (M40 A E & F) LR
13:50( 4 —IRF—L—R (MAORE LA EBF) (kB | 1350|LRAF2—Fa—TLRFa— i (UISKF) iiRBE
14:00( 4 —IRF—L—R (M30-39/E & F) iREH
14:05|LAFa—Fa—TLRFa— [ (UISBF) i iRE
1410(—JRF—L—R (M30-39m BB F) iiRE%
14:20( 4 —IRF—L—R (M23-29m X F) iiRE%
14:30( 4 —I7RF—L—R (M23-29 BB F) iiRB%
14:50| 1—RA— v —T i (U18KF) R
15:05| 1—RF—vw (U188 F) R
15:30(F—v 28—y L— (MBI LAT) REs | 15:30|8y T L— (U15%F) {iRBE
15:45(F—S v 18—y ) L— ((MIORE LA LE) REs | 15:45|8y ) L— (U155 F) {iRBE
16:00| 2y )1 L— (U18%F) iiRB
16:15|2yF)o1)L— (U185 F) {iRBE
16:45| & ERX@
17:30|FREHR T




